Calcola in colonna sul quaderno
34,888 + 4,867 =                        138,93:88=   
88,88 - 68,89 =                           77,677+79,753=                     
738,8 x 80 =                               18,371- 6,193=
1 389,3 : 84 =                             687 x 7,7=
7,083 + 25,98 =                          4415,4 :75=
35 - 17,65 =                                0,78 +7,796=
834 x 88 =                                  64,051- 44,372=
                                                






